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Question Description Marks
Let S1 and S2 be two stacks and elements in the stacks are ranging from 1 g
to n. The integers are placed in increasing order in S1 and S2, Write two
different algorithms to atrange the integers in S1 and S2 into a single stack

- (S) in increasing order. Compute the time complexities of your algorithms.
! For example if n=5, S1=[1,3,5] and S2=[2,4] output is $=(1,2,3,4,5].

o { " |Assume an n-digit number, where n (n>=2) is an even number, The given 10
| number is partitioned into two equal partitions L1 and L2 such that L1 is.

having digits from index position 1 to (n/2) of the given number and L2 i is|

having the remaining digits from index position (n/2)+1 to n of the glvcn

number. For example, 785613:is a 6-digit number for which L1 ={7.8 5}

and L.2={6,1,3}. The elements of L1 and L2 are stored in stack and queuc!

data structures respectively: Your task is to compute the sum of the digits of

a given n-digit number by performing operations on L1 and L2 only. Notet

you should not apply sequence of operations on same list at a time. {

gl  |Let L be a linked list with ‘m’ nodes and thcj"‘ node in list L has data [,

? 1<j<m. Let A be an array of ‘n’ integers, Ali], Ali+1],...,A[n], 1<i<n, such |
that they are the subset of the elements of list L. Write an algorithm to find r
| the maximum subsequence that is common (occurs in same order) in both |

array A and list L. |

MO



Example 1: L =1-> 2> 6> 4-> 3> 7-> §
A=(1,2,4,3,7]
Output: 4, 3, 7
ilixumplc 2 L= 15526->2->11->8->9
| A= (8,9, 15, 2, 26] '

Output: 8,9

|
Assume S is a data set of n integers and another integer x. Write an | 10

algorithm using queue data structure to determine whether or not there exist
two elements in S whose sum is exactly x.
TRI and TR2 are two binary trees. Tree TR2 is said to be subtree of TRIif 1q

there exists anode x in TRl such that the subtree of x is identical to!
TR2. That is, if you cut off the tree at node x,the two trees would be

identical. Given two trees TR1 and TR2, write an algorithm to check if TR2
is subset of TR1.




